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QUESTION 1

A network engineer is extending a LAN segment between two geographically separated data centers. Which
enhancement to a spanning-tree design prevents unnecessary traffic from crossing the extended LAN segment? 

A. Modify the spanning-tree priorities to dictate the traffic flow. 

B. Create a Layer 3 transit VLAN to segment the traffic between the sites. 

C. Use VTP pruning on the trunk interfaces. 

D. Configure manual trunk pruning between the two locations. 

Correct Answer: C 

 

QUESTION 2

DHCP snooping and IP Source Guard have been configured on a switch that connects to several client workstations.
The IP address of one of the workstations does not match any entries found in the DHCP binding database. Which
statement describes the outcome of this scenario? 

A. Packets from the workstation will be rate limited according to the default values set on the switch. 

B. The interface that is connected to the workstation in question will be put into the errdisabled state. 

C. Traffic will pass accordingly after the new IP address is populated into the binding database. 

D. The packets originating from the workstation are assumed to be spoofed and will be discarded. 

Correct Answer: D 

 

QUESTION 3

An engineer is configuring an EtherChannel between two switches using LACP. If the EtherChannel mode on switch 1 is
configured to active, which two modes on switch 2 establish an operational EtherChannel? (Choose two.) 

A. active 

B. auto 

C. desirable 

D. on 

E. passive 

Correct Answer: AE 

 

QUESTION 4
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After UDLD is implemented, a Network Administrator noticed that one port stops receiving UDLD packets. This port
continues to reestablish until after eight failed retries. The port then transitions into the errdisable state. Which option
describes what causes the port to go into the errdisable state? 

A. Normal UDLD operations that prevent traffic loops. 

B. UDLD port is configured in aggressive mode. 

C. UDLD is enabled globally. 

D. UDLD timers are inconsistent. 

Correct Answer: B 

 

 

QUESTION 5

After the recent upgrade of the switching infrastructure, the network engineer notices that the port roles that were once
"blocking" are now defined as "alternate" and "backup." What is the reason for this change? 

A. The new switches are using RSTP instead of legacy IEEE 802.1D STP. 

B. IEEE 802.1D STP and PortFast have been configured by default on all newly implemented Cisco Catalyst switches. 

C. The administrator has defined the switch as the root in the STP domain. 

D. The port roles have been adjusted based on the interface bandwidth and timers of the new Cisco Catalyst switches. 

Correct Answer: A 
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